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Pegel Eschenau
Ereignis74, HQ 1
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Niederschlag [mm/Tag]

N-Summe: 37,4 mm
Scheitelabfluss: 84,40 md/s
Q Ereignisbeginn: 419 m3s
Ereignisdauer: 79  std.
Abflussbeiwert: 30 %
N-Dauer: 2 Tage
max. N-intensitat: 19,80 mm/Tg
mittl. N-intensitat: 18,70 mm/Tg
Vorfeuchte: sehr hoch
Wetterlage: 36

Niederschlagsverteilung

EZi3 Peqgel Eschenau
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unker 27,00
27,0-28,8
28,8 - 30,6
30,6 - 32,4
32,4 - 34,2
34,2 - 36,0
36,0- 37,8
37,8-39,6
I9,6-41,4
41,4 -43,2
43,2 -45,0
45,0 - 46,8
46,3 - 48,6
48,6 - 50,4
a0,4 - 52,2
52,2 -54,0
54,0-55,8
a5,5-57,6
57,6-59.4
£9,4-61,2
aber 61,20



